e — 3

BH—7

FE-HRAEF=ZEEmBEFHR)

FROSERE HREIEA BRPE AABUEEIDIHEE

(B) F/t 284 48 18

(E) FEL 294 38318

(B fsr:F)

B E ® B LERRE(A) | HEEREB)| ZEWA)-B)

RERUEFINE 154,187,831 160,216,886] —6,029,055

Iz RERETHEINE 522,000 830,000 -308,000

" 2% Z DD IR 0 0 0
| H—E AEENAET() 154,709.831| 161,046,886 6,337,055
E ANGEER 97,784,209 96,402,780 1,381,429
A BRE 31,507,596| 31,677,138 -169,542
& EHKE 11,431,941 6,333,195 5,098,746
)| BAmE N E 10,644,886 10,473,181 171,705
B | B |EEHBSSERITE LS AACH mER) -5,956,655| -5,917,410 -39,245
iR A BT Ee%E 0 0 0
) EENEEIE YN 0 0 0
& FDHDE A 0 0 0
S—ERFBERAEQ) 145,411,977 138,968,884 6,443,093
H—EREBIERZEZG)=(1)-(2) 9,297,854]  22,078,002] -12,780,148

& AEF BB £ I 163,540 100,640 62,900
ISP ES 1,832 11,295 -9.463

+ LRl e i 0 0 0
[ | R |FEffEEEA 0 0 0
e & |REHMIESET A 0 0 0
2 REHMEESTAE 0 0 0
= FDMDY—E R FEH U 1,831,623 1,825,946 5,677
I§JJ H—E RFEBSMNREEE4) 1,996,995 1,937,881 59,114
Y XILFIE 75,480 88,060 -12,580
e A {EE ST 8 0 0 0
@ | @ |AEESEAE 0 0 0
o | m 1% & A fili 5 25 5T 18 0 0 0
# BEHMIEZHTHE 0 0 0
" ZRHDY—EREFHNER 1,092,973 893,550 199,423
H—EXFENEREG) 1,168,453 981,610 186,843

H—E X FHSMEREEE(6)=(4)-(5) 828,542 956,271 -127,729
REEBELET)=3)+6) 10,126,396 23,034,273 -12,907,877

B iEEmEbhe I 237,000 0 237,000

MR B HEFH SN 0 0 0

Iy R EEESEAETREETMEINE 0 0 0

2 [E € & 2 REE 0 6,196,363 6,196,363

B & EFT A 0 0 0

4 Z Dh D IR 427,809 1,155,817 -728,008
Al 4% 7l IR 3 §t(8) 664,809 7,352,180]  -6,687,371
1 HAEHHAZE 0 6,196,363 6,196,363
i & EmE 0 0 0
D EEEEFTNE - 08 0 0 0
E E |EEwHDESESEISIEREGRASE) 0 0 0
A |EEfBEESRELSTEIEE 0 0 0
KEEX 0 0 0
ZRHDEFFIEX 144 2 142

% Rl & A §O) 144 6,196,365] —6,196,221

F RSB E%8(10)=(8)-(9) 664,665 1,155,815 -491,150

LHRE B R A EE(11)=(7)+(10) 10,791,061] 24,190,088 -13,399,027

e R R ERE(12) 70,249,004] 67,564,783 2,684,221
= L H R R R EZ8(13)=(11)+(12) 81,040,065] 91,754,871] -10,714,806
%A T HAEHEZE04) 0 0 0
O B F D DFEL L ERARZAE(15) 5,635,620 0 5,635,620
2} 128 ZDMDIEIL SFEILEE(16) 12,001,082 21,505,867] -9,504,785
= RERfEHE B ZEEE(17)=(13)+(14)+(15)-(16) 74,674,603] 70,249,004 4,425,599




